
1. I am happy.
2. I am very happy.
3. My mother and I are very happy.


1. The child is angry.
2.  The small child is very angry.
3. The small child is very angry at her sister


1. The baby is sad.
2. The baby in the car is sad.
3. The baby in the car is sad because she is hungry.


1. Mario is scared of the dark.
2. Mario is scared of the dark because there are monsters.
3. Mario is scared of the dark because there are monsters who want to eat him.


1. Jonathan is nervous.
2. Jonathan is nervous because he is failing English class.
3. Jonathan is nervous because he is failing English class and all of his other classes.
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